Take-Home QUIZ ]_ (Due at 7:00 p.m. on Fri. September 14, 2007)

Division: ID#: Name:
Let us consider the following system of linear equations in 6 unknowns x1, s, ..., .
(L’1—|—ZE3 —$4—|—4Qf5 = —3 1 O 1 —1 4 O —3
2x1 + 273 — x4 + 675 = 1 B_ 2 0 2 -1 6 0 1
Ty + X3+ 21‘5 — Xg = 5 - 0 —2 -6 0 —2 0 -2
—X] — 2372 — 7.1’3 — 4%5 +x = -7 -1 -2 -7 0 -4 1 -7

1. Find the augmented matrix A of the system of linear equations above.

2. The matrix B is obtained by applying an elementary row operation once to the
augmented matrix A. Write the elementary row operation using the notation [z; ¢,

4, 7], or [4, j; c].

3. Find the reduced row echelon form of the augmented matrix A. (Solution only.)

4. Find the solution of the system of linear equations. Use parameters if necessary.
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